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Calibration Example

� Two monitors measure indoor concentrations of carbon

monoxide (CO) per minute in ppm.

� Monitor A is a newer, more accurate monitor. Monitor B

is an older monitor.

� QA experiment: To verify that the monitors are

measuring the same concentrations, both monitors are

co-located near a CO source, and are turned on

simultaneously.
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Simultaneous Inference

see Section 6.3 of Sleuth, Concept. Exc. 9
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2. 95% CI for /10 and /32 , such that the two CIs

simultaneously capture the slope and intercept of the

regression line with 95% probability. Bonferroni

procedure
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3. Simultaneous estimation for g means of Y at a set of g

X’s. Bonferroni procedure�������� 	�
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4. Simultaneous prediction intervals for new observations.

Use Bonferroni multiplier or a more conservative Scheffe

multiplier.


